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General Instructions :
(1) All questions are compulsory.
(1i) Question number 1 to 5 are very short answer questions and carry 1 mark each.
(iti)  Question number 6 to 10 are short answer questions and carry 2 marks each.
(1v) Question number 11 to 22 are also short answer questions and carry 3 marks each.
(v) Question number 23 is a value based question and carry 4 marks.
(Vi) Question number 24 to 26 are long answer questions and carry 5 marks each.

(vii)  Use log tables, if necessary. Use of calculators is not allowed.

. AgCl T YR 1 LEHAMIS I ST & 2

What type of stoichiometric defect is shown by AgCl ?

2. THYH T B & ? Ush 3S180T ST |

What are emulsions ? Give an example.

3. ‘il TS Sl ST olIcas 81T & 2

What 1s meant by chelate eftect ?

4. = % AR I 9T Al (IUPAC) A fAfET
CH, - CH, - CHO

Write the IUPAC name of the following :

CH, — CH, — CHO

5. T ol &R &TH o @ o | HAdd Hiey
U, p-ATE2UeE 3R p-2TelgeH

Arrange the following 1n increasing order of basic strength :

Aniline, p-Nitroaniline and p-Toluidine
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(i) I (x)

(i) U foeTaT sl AicToTdl (m)

Define the following terms :
(1) Mole fraction (x)

(1) Molality of a solution (m)

7. SR 3T AR fgdia aeT Afismanst o fort 3¢ ferien & giHe fofau 39 fefa 7 s/a digdn
T mol L' 37X AT ! Wehvel H Toiar T & |

Write units of rate constants for zero order and for the second order reactions if the

concentration is expressed in mol L™ and time in second.

. T ¥l i AT HIWT :
(1) TRITHRE I STUETT TSI S@d &H Ak ¢ |
(i) NF; T ST TEe € T3] NCI, SR 181 8 |

Explain the following :

(1)  Nitrogen 1s-much less reactive than phosphorus.

(1)  NF; 1s an exothermic compound but NC/; 1s an endothermic compound.

9. TR WHTHE i FFHIUT fafy 1 auF ST | STRATPd THTHS SRITeTsh 3T & 919 hd
TTSHAT ST & 2 SATTHAT o To7d 3TafHes FHeRoT gy |

ST

IR STEhIHE I SRAIHIOT 56T 1 a0 hifsTT 3R 3T (i) TSRS (i) H,S & 6
B ST STAThATT o T3 3TAeh THISHIOT hi TaRgu |
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Describe the preparation of potassium permanganate. How does the aciditied
permanganate solution react with oxalic acid ? Write the 1onic equations for the

reactions.

OR

Describe the oxidising action of potassium dichromate and write the 1onic equations

for its reaction with (1) an 1odide (i1) H,S.

10. T 9 U 999 H 377 TSTo1IehI0T bl BRI [ARgyq |

Write the mechanism of acid dehydration of ethanol to yield ethene.

1. THeeR fec STeteh B sheiord giar € | 31g IS I & R i o=g 4.077 x 10°° em &, @
Tgoa T AU (1) IR iy |

Silver crystallises i tcc lattice. 1f edge length of the unit cell 1s 4.077 X 10~° cm, then

calculate the radius of silver atom.

2. IR (M.W. 342) 7 5 U9 et (FeT9H 3R W) U 981 X & 0.877% =i & 91
IEERIH & | X ] SUTTerh 9 TR {old Shifed |

A 5 percent solution (by mass) of cane-sugar (M.W. 342) 1s 1sotonic with 0.877%

solution of substance X. Find the molecular weight of X.

13. U UIH HilE THBRAT & o7d g7 TR 60 s & | AThReh o YRR 95T &l 39 1/10
ek "2 H [oha=T IHT T ?

The rate constant for a first order reaction is 60 s !. How much time will it take to

reduce the initial concentration of the reactant to its 1/10™ value ?
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14. 9% UshHT i SATAT iU -

(i) Sy
(i) TAFIHREH
(iii) Teveet U9

Describe the following processes :
(1)  Daialysis
(1) Electrophoresis

(1n1) Tyndall effect

15. T &% 3 I
(i) UCIHMIH o GTqehd | SIS i T HEHT Bl & ?
(i) 9o ThaT 3T a9 § 37aT SHilew |
(iii) “THIHSRIT 95 § T A Bl € 2

SAT

ST T4 & 610 o 9 o Tl 9T § &1 Jredl STrfehamy fofEw |

Answer the following”:

(1)  What 1s the role of cryolite in the metallurgy of aluminium ?
(1) Differentiate between roasting and calcination.

(111) What 1s meant by the term ‘chromatography’ ?

OR

Write the reactions taking place in different zones of the blast furnace to obtain Iron.

16. “SFMUG ¥ 41 A il & 2 STl [derde T SHMUA STeharatl s Ueh 330 ST |

b

What 1s meant by ‘disproportionation’ ? Give one example of disproportionation

reaction 1n aqueous solutions.
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17. Frfefad s TUPAC W fafa ;
(i)  [Co(NH,)]CL,
(i) [NiCl,]*
(i) K;[Fe(CN),]
Write the TUPAC name of the following :
(i)  [Co(NH,)]Cl,
(i) [NiCl,]*

(iii) K,[Fe(CN),]

18. =1 FifTehl & 2% J I T & (IUPAC) ATHT &l ST -

(i) CH,- CH - CH, - CH,

Br
Br
. ~
(ii !
N Br

(m) CH,=CH-=CH, -CI
Give the IUPAC names of the following compounds :

(1) CH3 — (|3H — CH2 — CH3
Br

Br

(11)
Br

(ili) CH,=CH - CH, — CI
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19,

20).

56/1

=T TUTaRoT hd 63 511 € 2

(i) SF~TeT FAREE Bl dl-<Te1 Uohlaiel |

(i) UfIeT HEIYEY FARES T WUA-1-37c |
(iii) WO ol UA-2-37cT |

How are the following conversions carried out ?
(1)  Benzyl chloride to Benzyl alcohol

(1) Ethyl magnesium chloride to Propan-1-ol

(111) Propene to Propan-2-ol

M= 3TRATeTl § §8&7 3018 [oTiay
PCI
(i) CH,-CH,OH > 57
OH

-~ anhyd. AICI,
(11) + CH,— CI > 7

(ili) CH;— CI+ CH,CH, — ONa — ?

Write the major product in the following equations :

PCI,
(i) CH,;- CH,OH 7

OH

- anhyd. AIC/,
(11) FCH—Cl > )

(ili) CH, - Cl+ CH,CH, - ONa — ?

e | FErad = 1 TN iy
(i) UIEE Totehst
(11) reEt TLEAT

Detine the following as related to proteins :
(1)  Peptide linkage
(1) Primary structure

(1m1) Denaturation
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2. ‘HIUTATRISSIYN’ U i SANAT HITT T “HIUTATHIESI & & 3SEIUT IeT |

Explain the term ‘copolymerization’ and give two examples ot copolymerization.

23. AR feurcH=a R § X & QHH GiEH & o T | U @H H 98 $9 IRIed feihan
@ | 98 P UE fefRar WRieH 1 FYEd 6 SS9 T o o SUAnT o, i 39
STRT YR 6 ST & | ST T Wb shl YRRed T2l 4f | S8 HU o a8 Gehleld ERis
ST 39 S1ST o fo1d YA o |

(i) U 3 IR Ted M A1 IISTT ST ARST o el TRT |
(ii) o ST o 9T o o1 UET ST GUSAT AR o [o7d 3red 41 9
(i) SURIERT T ST T i IT T[0T UfdeAredd erar & 2

Neeraj went to the departmental store to purchase groceries. On one of the shelves he
noticed sugar free tablets. He decided to buy them for his grandfather who was a
diabetic. There were three types of sugar free tablets. He decided to buy sucrolose

which was good for his grandfather’s health.

(1) Name another sugar free tablet which Neeraj did not purchase.
(1) Was it right to-purchase such medicines without doctor’s prescription ?

(1) What quality of Neeraj 1s retlected above ?

24. A G® 3R e.m.f.(E) i GRHd HIfT 5T 25 °C WIS Mafd H 7 Fet § U 8l & -

Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

fearmr:E° .  =-0.76 V; E° =-0.14V
/n” /Zn Sn™ /Sn

3R F = 96500 C mol™!

ST
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(a) UF OEA-STUeeT & (gt & [oid Arershal 3R HioR Arershal &l IRYNd i |
HiEdT o 9T 3% GRelc ahi SAREAT Shifely |

(b) 3T TeAciieh TeT & Loe oA [od i TREh{eAd HITeTq foTqy =1 3TTafshar gidt €
Fe**(aq) + Ag*(aq) — Fe’*(aq) + Ag(s)
ATSHAT T A G° 3R Jodieh! e &l Tt Hi i |

(E> . =0380V;E° .,
Ag /Ag Fe” /F

,,=0.77V)
C

Calculate A G®° and e.m.f. (E) that can be obtained from the following cell under the

standard conditions at 25 °C :

Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

Given : E° =—0.76 V; E° =—-0.14V

Zn2+/Zn Sn2+/ Sn

and = F=96500C mol .
OR

(a) Define conductivity and molar conductivity for the solution of an electrolyte.

Discuss their variation with concentration.

(b) Calculate the standard cell potential ot the galvanic cell in which the tollowing

reaction takes place :
Fe**(aq) + Ag*(aq) — Fe’*(aq) + Ag(s)

Calculate the A G® and equilibrium constant of the reaction also.

(E° — .80 V; E° ,.=0.77V)
C

Ag'/Ag Fe */F
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25. (a) YU 16 & T QERUGAT TG99 I TSl doqwa-4l 3fad arel J9 15 o a<al i
o | Y HF S & | U7 1 ¢ 2

(b) T BT & 5T —
(i) 9% H,SO, i CaF, T STell ST 8 ?
(i) TR STEIHATES TR I SURATT H FARM I 3IThHar il € 2
(i) ST FANEE B Ca(OH), & AY IT=TRA FHAT AT & 2
e
(a) T i FEA ST HITT -
(i)  BrF,
(i) XeO,
(b) =1 U9l &% 3T I
(i) . PH,I S0&iINH, 5 31feh & el & 2
(il) &SI YeeT AR 3T &id & 2
(iii) XeOR, I FTo ARFET ST |

(a) Elements of Gr. 16 generally show lower value of first ionization enthalpy

compared to the corresponding periods of Gr. 15. Why ?

(b)  What happens when

(1)  concentrated H,SO, 1s added to Cak, ?

(1) sulphur dioxide reacts with chlorine in the presence of charcoal ?

(1) ammonium chloride 1s treated with Ca(OH), ?

OR
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26.

56/1

(a)

(b)

(a)

(b)

(a)

(b)

Draw the structure of the following

(1)  BrF,
(1)  XeO,

Answer the following :

(1)  Why 1s NH, more basic than PH, ?

(1) Why are halogens strong oxidising agents ?

(1) Draw the structure of XeOF,.

=T ht ST 3RAE iy -
(i) p-ArICTeSTUCERTES
(i) 4-AfeTte-3-39-2-311

fre=r ifres Tt | 2R R % ford a6 S

(i) Sz ufge 3R uireie=iue |
(i) S=lcesEs 3R THEHEMA
(iii) T 2R s=eE ofaS

3
= SISl TLEATT STRIET HiTT ;
(i) WO SR

(i) CH,CHO =1 HHTehTeIST

T T AT T AT 7 8 TR BT ? Heg JTEEESH THIEHOT &l ST |

(i) CH,—-CH,
(i) CH,—-CH—CH,-CHO
|
OH

(i) CH,CH,OH

11

~

—
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(a) Draw the structures of the following :
(1  p-Methylbenzaldehyde
(1) 4-Methylpent-3-en-2-one
(b) Give chemical tests to distinguish between the following pairs of compounds :
(1  Benzoic acid and Ethyl benzoate.
(1) Benzaldehyde and Acetophenone.
(1) Phenol and Benzoic acid.
OR
(a) Draw the structures of the following derivatives :

(1  Propanone oxime

(1)  Semicarbazone of CH,CHO

(b) How will you convert ethanal into the following compounds ? Give the chemical

equations involved.
() CH;=CH,
(m) CH,-CH-CH,-CHO
|
OH

(iii) | GH,CH;OH
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